
PARTS INCLUDED:
• (2) 3/8-16 x 5″ Hex Bolts 
• (2) 3/8-16 nylon lock nuts
• (1) Quick-Release Pin 
• (1) Bowtie Pin 

TOOLS YOU’LL NEED:
• (2) 9/16″ Box Wrenches or Sockets

QUICK RELEASE INSTALLATION
1. Lean the Chassis against the wall.(it’s easier)
2. �(Fig. 1) Install one 3/8-16 x 5″ hex head bolt through the top 

hole of the caster pad. Fasten with a 3/8-16 nylon lock nut.
3. ��(Fig. 2) Slip the wheel under the bolt. 
4.  �Then install the Quick-Release Clevis Pin into lower hole.  

Secure with the Bowtie Pin. 
5.  �Repeat on the other side.

PERMANENT INSTALLATION
1.  Lean the Chassis against the wall. (it’s easier)
2.  �(Fig. 3) Install one 3/8-16 x 5″ hex head bolt through the top 

hole of the caster pad. Fasten with a 3/8-16 nylon lock nut. 
3.  ���(Fig. 2) Slip the wheel under the bolt. 
4.  �Then install the second 3/8-16 x 5″ hex head bolt into the lower 

hole and secure with a 3/8-16 nylon lock nut. 
5.  �Repeat on the other side.

Installing the Wheels 2-Ways

WOODLAND POWER PRODUCTS, INC.
72 Acton Street, West Haven, Connecticut 06516	 TOLL-FREE 1-(888)-531-RAKE
www.CycloneRake.com	 ©2022, Woodland Power Products, Inc.	 01-06-261   F23

These Instructions are for both Single and Dual-PRO Wheels. These Wheels can be installed 2 ways.  
Quick Release Installation: If you are planning on removing your wheels when storing your Cyclone Rake.  
Permanent Installation: If you are planning to keep your wheels attached at all times.

Quick-Release Installation

Permanent Installation

Fig. 1

Fig. 2

Fig. 3

Caster Pad

1 Bolt

1 Quick  
Release Pin

Bowtie  
Pin

Chassis

Caster Pad

Bolts

Chassis


